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Synopsis 

This poem is a vivid description of budding flowers and their growth in Spring, 

and it compares flowers to young school children. The speaker seems to be a 

young child, who speaks to a mother figure in the poem saying that he believes that 

the flowers must go to school underground. The flowers bursting from the ground 

and reaching to the sky for their mother remind the poet of vibrant school children 

who have been kept indoors for too long. 

 

Question/Answers 

Q-1) The wind comes ‘marching’. Here the wind is given a human quality. 

What is this figure of speech called? 

Q-2) What do the flowers do in their holidays? 

a) They blossom. 

b) They wither away 

c) They remain under the cover of the earth. 

d) They become fragrant 

Q-3) How do the flowers show their keenness to reach heaven? 

a) They make a rustling sound. 

b) They rush out of the earth. 

c) They wear coloured clothes. 

d) They fade away 

Q-4) Share your own imagination of the poem in your own words. 

 

 

 

 

 

 

 

 

 

ह िंदी कार्य पत्रिका 



 म पिंछी उन्मुक्त गगन के 

-- शिव मंगल श हं  "  ुमन " 

हम पंछी उन्मुक्त गगन के 

पपजंरबद्ध न गा पाएंगे 

कनक-तीशलयों  े टकराकर 

पुलककत पखं टूट जाएगें । 

हम बहता जल पीनेवाले 

मर जाएगें भूख-ेप्या  े

कह ं भल  है कटुक ननबोर  
कनक-कटोर  की मैदा  े । 

स्वर्ण-श्रंखला के बंधन में 
अपनी गनत, उडान  ब भूले 

ब   पनों में देख रहे हैं 
तरू की फुनगी पर के झूले । 

ऐ े थे अरमान कक उडते 
नील गगन की  ीमा पान े

लाल ककरर्- ी चोंच खोल 

चुगत ेतारक-अनार के दाने । 

होती  ीमाह न क्षिनतज  े 

इन पंखों की होडा-होडी 
या तो क्षिनतज शमलन बन जाता 
या तनती  ााँ ों की डोर  । 

नीड न दो, चाहे टहनी का 
आश्य नछन्न-शभन्न कर डालो 
लेककन पखं ददए हैं तो 
आकुल उडान में पवघ्न न डालो । 

 

(1) हम पंछी उन्मुक्त गगन के………………. कनक-कटोर  की मैदा  े । 

 



 म पिंछी उन्मुक्त गगन के कविता का अर्य: कपव शिवमंगल श हं  ुमन ने हम पंछी 
उन्मुक्त गगन के कपवता की इन पंक्क्तयों में पंनछयों की स्वतंत्र होन ेकी चाह को 
दिाणया है। इन पंक्क्तयों में पिी मनुष्यों  े कहते हैं कक हम खुले आकाि में उडने वाले 

प्रार्ी हैं, हम पपजंरे में बंद होकर खुिी के गीत नह ं गया पाएगें। आप भले ह  हमें  ोन े

 े बने पपजंरे में रखो, मगर उ की  लाखों  े टकरा कर हमारे कोमल पंख टूट 

जाएगें। आगे पिी कह रहे हैं कक हम तो बहते झरनों-नददयों का जल पीते हैं। पपजंरे में 
रहकर हमें कुछ भी खाना-पीना अच्छा नह ं लगेगा। चाहे आप हमें  ोने की कटोर  में 
स्वाददष्ट पकवान लाकर दो, हमें तब भी अपने घों ले वाले नीम की ननबौर  ज्यादा 
प ंद आएगी। पपजंरे में हम कुछ भी नह ं खाएगें और भूख-ेप्या े मर जाएगें। 

(2) स्वर्ण-श्रंखला के बंधन में…………. चुगते तारक-अनार के दान े। 

 म पिंछी उन्मुक्त गगन के कविता का अर्य: कपव शिवमंगल श हं जी ने हम पंछी 
उन्मुक्त गगन के कपवता की इन पंक्क्तयों में पपजंरे में बंद पक्षियों का दखु-ददण 
ददखाया है। पपजंरे में बंद रहते-रहते बेचारे पिी अपनी उडने की  ब कलाए ंऔर तज़े 

उडना भूल चुके हैं। कभी वो बादलों में उडा करत ेथे, पेडों की ऊाँ ची टहननयों पर बैठ 

करते थे। अब तो उन्हें ब   पने में ह  पेड की  ब े ऊाँ ची डाल पर बैठना न ीब होता 
है।  

पंनछयों के मन में यह इच्छा थी कक वो उडकर आ मान की  भी  ीमाओं को पार 

कर जाएं और अपनी लाल चोंच  े श तारों को दानों की तरह चुनें। मगर, इ  गुलामी 
भर  क्ज़ंदगी ने उनके  भी  पनों को चूर-चूर कर ददया है। अब तो पपजंरे में कैद 

होकर रह गए हैं और बबल्कुल खुि नह ं हैं।  

(3) होती  ीमाह न क्षिनतज  े…….. आकुल उडान में पवघ्न न डालो । 

 म पिंछी उन्मुक्त गगन के कविता का अर्य: कपव शिवमंगल श हं  ुमन जी ने हम 

पाँछी उन्मुक्त गगन के कपवता की आखखर  पंक्क्तयों में पक्षियों की स्वतंत्र होकर 

उडने की इच्छा का बडा ह  माशमणक वर्णन ककया है। 

इन पंक्क्तयों में पिी कहते हैं कक अगर हम आजाद होते तो उडकर इ  आ मान की 
 ीमा को ढंूढने ननकल जाते। अपनी इ  कोशिि में हम या तो आ मान को पार कर 



लेते, तो कफर अपनी जान गंवा देते। पक्षियों की इन बातों  े हमें पता चलता है कक 

उन्हें अपनी आज़ाद  ककतनी प्यार  है। 

कहिन शब्दों के अर्य लिखिए 

गगन = आसमान 

पुलकित = प्रसन्नता 

िनि =सोना 

िटुि =िड़वा 

कनबौरी= नीम िा फल 

िनि - िटोरी  = सोने िा बततन 

स्वर्त = सोना 

तरु = पेड़ 

फुनगी = वृक्ष िा सबसे ऊपरी भाग 

सीमाहीन = असीकमत 

कक्षकतज = जहााँ धरती और आसमान परस्पर कमलते हुए प्रतीत होते हैं 

होोंडा - होड़ी = आगे बढ़ने िी प्रकतयोकगता । 

• हदए गए शब्दार्ों में से ककन् ीिं पााँच शब्दों के अर्य स्पष्ट करते  ुए िाक्र् ननमायण 

कररए 

 

1. हर तरह की  ुख  ुपवधाएाँ पाकर भी पिी पपजंरे में बंद क्यों नह ं रहना चाहते? 

2. 2. पिी उन्मुक्त रहकर अपनी कौन-कौन  ी इच्छाएाँ पूर  करना चाहत ेहैं? 

3. 3. भाव स्पष्ट कीक्जए – 

“या तो क्षिनतज शमलन बन जाता/या तनती  ााँ ों की डोर । 

• मूल्य आधाररत प्रश्न :- 

            पक्षियों को पलना उचचत है अथवा है अथवा नह ं ? अपने पवचार शलखखए । 

 

 

MATHS 

ASSSIGNMENT 
  Video Link: https://www.youtube.com/watch?v=wOO8IoNRyvo 

 

Integers 

https://www.youtube.com/watch?v=wOO8IoNRyvo


Properties of Addition and Subtraction of Integers 

CLOSURE PROPERTY 

1. Closure under Addition 

For the closure property the sum of two integers must be an integer then it will be 

closed under addition. 

Example 

2 + 3 = 5 

2+ (-3) = -1 

2. Closure under Subtraction 

If the difference between two integers is also an integer then it is said to be closed 

under subtraction. 

Example 

7 – 2 = 5 

7 – (- 2) = 9 

3. Commutative Property 

a. If we change the order of the integers while adding then also the result is the 

same then it is said that addition is commutative for integers. 

For any two integers p and q 

p + q = q + p 

Example 

23 + (-30) = – 7 

4.Associative Property 

If we change the grouping of the integers while adding in case of more than two 

integers and the result is same then we will call it that addition is associative for 

integers. 

For any three integers, p, q and r 

p + (q + r) = (p + q) + r 

Example 

If there are three integers 3, 4 and 1 and we change the grouping of numbers, then 

 

Multiplication of Integers 

Multiplication of two integers is the repeated addition. 



Example 

• 3 × (-2) = three times (-2) = (-2) + (-2) + (-2) = – 6 

• 3 × 2 =  three times 2 = 2 + 2 + 2 = 6 

 

Properties of Multiplication of Integers 

1. Closure under Multiplication 

In case of multiplication, the product of two integers is always integer so integers 

are closed under multiplication. 

For all the integers p and q 

p×q = r, where r is an integer 

Multiplicative Identity 

If we multiply an integer with 1 then the result will always the same as the integer. 

For any integer q 

q × 1 = 1 × q = q 

Example 

21 × 1 = 1 × 21 = 21 

1 × (-15) = (-15) 

 

MENTAL MATHS 

• FILL IN THE BLANKS 

1.The sum of a positive integer and a negative integer is a………………….. 

2.Closure property does not hold in integers for……………………… 

3. The difference of two negative integers is a …………….. 

4.( ( -10 ) +3 ) + ( -12 ) = ( -10 ) + ( 3 +…………) 



5.The product of three negative integers and the product of two positive integers is    

      a ………….integer . 

• TRUE OF FALSE 

6. If a and b are two integers then a - b is an integer. 

7. 1 is the additive identity of integers. 

8. Closure property holds for division of integers. 

9.The product of two integers is greater than the sum of integers. 

10. For every integer a , ǀ a ǀ is either positive or zero 

ACTIVITY: 

A water tank has steps inside it.A monkey is sitting on the first step .The water 

level is at 11th step.He jumps 4 steps down  an d then jumps back 2 steps up.In how 

many jumps will he reach the water level? 

SCIENCE 

NUTRITION IN PLANTS 

       Watch Video - https://www.youtube.com/watch?v=UPBMG5EYydo  

   TOPIC -  Photosynthesis 

    Sub Topic- Equation and process of photosynthesis 

Photosynthesis:This is the process through which plants prepare food using 

sunlight, Carbondioxide ,water , minerals from soil and chlorophyll present in 

leaves . Plants release oxygen and food is stored in the form of starch in all the 

parts of the plants.                                        

                  
       

  Steps involved in the process- 

1) Plants take carbon dioxide through stomata present in leaves. Stomata are the 

tiny pores used for exchange of carbon dioxide and oxygen. They are surrounded 

by the guard cells. 

https://www.youtube.com/watch?v=UPBMG5EYydo


2) Roots take minerals from soil, chlorophyll is a pigment present in leaves . Plants 

in presence of sunlight prepare food through photosynthesis. 

ACTIVITY:  Keep a potted plant in dark for 72 hours and observe what happens 

after 72 hours? 

 

Let’s Discuss- 

1) Name the essential component apart from food ,which plants provide us. 

2) What will happen if chlorophyll is not present in the leaves? Can non green 

leaves prepare their food on their own or not? 

3) What helps leaves in exchange of gases? Explain 

4) In which form does food get stored in the plants? Where  does it get stored? 

5) Name the reactants and products of the plant. 

Activity based questions 

 

1) What happens to the plant after 72 hours?  State the reason. 

2) What are the essential components required to keep a plant healthy? 

 

SOCIAL STUDIES 

ENVIRONMENT (GEOGRAPHY) 

 VIDEO  LINK :- https://youtu.be/Q0m62wnKLYw 

Natural Environment:   

i) Land, water, air, plants and animals comprises the natural environment.   

ii) Lithosphere, atmosphere, hydrosphere and biosphere are the four domains of 

the natural environment.   

   
 

iii) Lithosphere is the solid crust or the hard-top layer of the earth. It contains land 

forms like mountains, plateaus, plains and valleys. 



 
iv) Hydrosphere is the domain of water. It comprises water bodies like rivers, lakes, 

seas, oceans, etc.  

 
_____________________________________________________________________

_________ 

 

v) Atmosphere is the thin layer of earth that surrounds the earth. It protects us from 

the harmful rays and scorching heat of the sun.   

 
vi) Biosphere is a narrow zone of the earth where land, water and air interact with 

each other to support life.   



 
What is Ecosystem? 

(i) It is a system formed by the interaction of all living organisms with each other and 

with the physical and chemical factors of the environment in which they live, all 

linked by the transfer of energy and material. 

(ii) There could be an ecosystem of large rainforest, grassland, desert, mountains, lake, 

river, ocean and even a small pond.   

 

Human Environment:   

(i) Human beings interact with the environment and modify it according to their needs. 

  

(ii) Early humans adapted themselves to their natural surroundings.   

(iii) With time, humans learnt to grow new crops, domesticate animals and lead a 

settled life.   

(iv) Industrial revolution, transportation and information revolution and information 

made communication easier and speedy across the world. 

Worksheet Day - 2 

1. Answer the following questions: -       

 MARKS 

1. What do you mean by natural environment?      

 (1) 

2. Define the following: -         

 (3) 

a) Biosphere 

b) Lithosphere 

c) Ecosystem            (1) 

3. What does lithosphere provide us?       

 (3) 

4. How is atmosphere important for us?       

 (3) 

5. Why is our environment changing?       

 (3) 

6. How have human beings adapted to the environment to fulfil their needs? 

  (3) 

 



2. FILL UPS: - 

1. The solid crust or the hard-top layer of the earth is ______________. 

2. ________ is a trade in which goods are exchanged without the use of money. 

3. _______ is a narrow zone of the earth where land, water and air interact with each 

other to support life. 

4. On ____________________ every year World Environment Day is celebrated. 

3. OBJECTIVE TYPE QUESTIONS: - 

1) What is the solid crust of the earth is called?   2) Which is not a natural 

ecosystem? 

a. Atmosphere       a. Desert 

b. Lithosphere       b. Aquarium 

c. Crust        c. Forest 

d. All of these       d. None of these 

3) Which is not a component of human environment?  4) Which is a threat to 

environment? 

a. Land        a. Growing plants 

b. Religion        b. Growing population 

c. Community       c. Growing crops 

d. All of these       d. None of these 

 

                                        

 

 

 

 

 

 

 

 



 

 

 

 

                                                

 

 

 

 

 

 

 

 

 

 

                                        पवषय -  ंस्कर त  

     

                                           

                                                             



 

 

 



 

 

 

 

 

 



प्रश्न 1 प्रश्नानां  उत्तरत - 

1. कैैः  ङ्गनत ंकुवीत  ? 

2. कुत्र पवस्मयैः न दह कतणव्यैः ? 

प्रश्न 2 िब्दानां अथणम ्शलखत - 

        1) पवस्मयो - - 

        2) व ुन्धरा  - 

        3) तपश    - 

        4) कुवीत  - 

        5) मैत्रीम ्- 
       

 

 

 

 

 

 

 

 

 


